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Question Numbers : (1 to 5)

Question Label : Comprehension



India' growth can't be built on Chinese efficiency: Jaishankar

New Delhi: Indian growth cannot be built on Chinese efficiency. external affairs minister S. Jaishankar said on
Wednesday. and backed building robust domestic vendor chains for the manufacturing sector.

"[ think we should stop looking for a China fix. If we are really to sustain and take the economy to a different
level we have to create a kind of domestic vendor chain that a serious manufacturing economy will do."
Jaishankar said at the launch of the book Made in India: 75 Years of Business and Enterprise’ authored by
India's G20 Sherpa Amitabh Kant. The production-linked incentive scheme (PLI) is an effort to raise
manufacturing capabilities in the country. he said.

The external affairs minister said India needs to get its focus back on manufacturing to take advantage in the
post-pandemic world. "There is no major country in the world which has sustained or enhanced its global
position without some commensurate build up of manufacturing. I have always believed that this focus on
services was actually an elegant excuse for being incompetent in manufacturing” said Jaishankar.

The ministers said the country will have to think through its growth strategy and domestic solutions against the
backdrop of the global challenges and cited the Covid experience and the strategy adopted to deal with it.

"In the name of opening the economy and globalising we should not end up de-industrialising this country. We
should not allow level playing field in this country for others to subside their rich. That's economic suicide. We

need to be clear that every country must support its manufacturers, must support its businesses. We mustn't
allow other businesses enjoy advantages in our country at the expense of others." said Jaishankar.

He also said there 15 a need to look at the economy from a strategic lens and identify the right partners. "I see
'Make in India' not as a manufacturing programme. I see it as a strategic statement." he added.

Sub questions

Question Number : 1 Question Id : 68634011043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the term 'Commensurate' 1s:

1. Start

| ]

. Common

L]

. Corresponding in size
4, Comment

Options :

68634043601. 1
68634043602. 2
68634043603. 3
68634043604. 4

Question Number : 2 Question Id : 68634011044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the purpose of Production - Linked incentive Scheme (PLI)?

1. to raise exort capabilities of the country

| ]

. to raise manufacturing capabilities in the country
3. to raise mcome capabilities of the citizens
4. to raise import capabilities of the country

Options :

68634043605. 1
68634043606. 2
68634043607. 3
68634043608. 4

Question Number : 3 Question Id : 68634011045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the external affairs minister India need to get its focus back on to take advantage in
the post pandemic world?

1. Export

2. Import

3. Per capital income
4. Manufacturing

Options :

68634043609. 1
68634043610. 2
68634043611. 3
68634043612. 4

Question Number : 4 Question Id : 68634011046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In the name of opening the economy and globalising we should end up de-industrialising this
country.

Statement IT: We should not allow level playing field in this country.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT 1s incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634043613. 1
68634043614. 2

68634043615. 3
68634043616. 4

Question Number : 5 Question Id : 68634011047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Antonym of the word Robust’

1. Strong and healthy

J

. Weak and unhealthy
3. Restart

4. Remove

Options :

68634043617. 1
68634043618. 2
68634043619. 3
68634043620. 4
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Question Numbers : (1 to 5)
Question Label : Comprehension



India' growth can't be built on Chinese efficiency: Jaishankar

New Delhi: Indian growth cannot be built on Chinese efficiency. external affairs minister S. Jaishankar said on
Wednesday. and backed building robust domestic vendor chains for the manufacturing sector.

"[ think we should stop looking for a China fix. If we are really to sustain and take the economy to a different
level we have to create a kind of domestic vendor chain that a serious manufacturing economy will do."
Jaishankar said at the launch of the book Made in India: 75 Years of Business and Enterprise’ authored by
India's G20 Sherpa Amitabh Kant. The production-linked incentive scheme (PLI) is an effort to raise
manufacturing capabilities in the country. he said.

The external affairs minister said India needs to get its focus back on manufacturing to take advantage in the
post-pandemic world. "There is no major country in the world which has sustained or enhanced its global
position without some commensurate build up of manufacturing. I have always believed that this focus on
services was actually an elegant excuse for being incompetent in manufacturing” said Jaishankar.

The ministers said the country will have to think through its growth strategy and domestic solutions against the
backdrop of the global challenges and cited the Covid experience and the strategy adopted to deal with it.

"In the name of opening the economy and globalising we should not end up de-industrialising this country. We
should not allow level playing field in this country for others to subside their rich. That's economic suicide. We

need to be clear that every country must support its manufacturers, must support its businesses. We mustn't
allow other businesses enjoy advantages in our country at the expense of others." said Jaishankar.

He also said there 15 a need to look at the economy from a strategic lens and identify the right partners. "I see
'Make in India' not as a manufacturing programme. I see it as a strategic statement." he added.

Sub questions

Question Number : 1 Question Id : 68634011043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the term 'Commensurate' 1s:

1. Start

| ]

. Common

L]

. Corresponding in size
4, Comment

Options :

68634043601. 1
68634043602. 2
68634043603. 3
68634043604. 4

Question Number : 2 Question Id : 68634011044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the purpose of Production - Linked incentive Scheme (PLI)?

1. to raise exort capabilities of the country

| ]

. to raise manufacturing capabilities in the country
3. to raise mcome capabilities of the citizens
4. to raise import capabilities of the country

Options :

68634043605. 1
68634043606. 2
68634043607. 3
68634043608. 4

Question Number : 3 Question Id : 68634011045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the external affairs minister India need to get its focus back on to take advantage in
the post pandemic world?

1. Export

2. Import

3. Per capital income
4. Manufacturing

Options :

68634043609. 1
68634043610. 2
68634043611. 3
68634043612. 4

Question Number : 4 Question Id : 68634011046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In the name of opening the economy and globalising we should end up de-industrialising this
country.

Statement IT: We should not allow level playing field in this country.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT 1s incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634043613. 1
68634043614. 2

68634043615. 3
68634043616. 4

Question Number : 5 Question Id : 68634011047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Antonym of the word Robust’

1. Strong and healthy

-J

. Weak and unhealthy
3. Restart

4. Remove

Options :

68634043617. 1
68634043618. 2
68634043619. 3
68634043620. 4

Sub-Section Number : 2
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Question Shuffling Allowed : Yes
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Question Number : 6 Question Id : 68634011048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the options given below this sentence should replace it to make it grammatically correct:

In light of his extraordinary impressive leadership skills. a recent survey put Abhiram ahead of Vijit in the race
tor the post of school leader and found him to be the best candidate of the two.

1. In light of his extraordinarily impressive leadership skills. a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be the best candidate of the two.

2. In light of his extraordinarily impressive leadership skills, a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be the better candidate of the two.

3. In light of his extraordinarily impressive leadership skills. a recent survey put Abhiram ahead of Vit in
the race for the post of school leader and found him to be a better candidate of the two.

4. No correction

Options :

68634043621. 1
68634043622. 2
68634043623. 3
68634043624. 4

Question Number : 6 Question Id : 68634011048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the options given below this sentence should replace it to make it grammatically correct:

In light of his extraordinary impressive leadership skills, a recent survey put Abhiram ahead of Vijit in the race
for the post of school leader and found him to be the best candidate of the two.

1. In light of his extraordinarily impressive leadership skills. a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be the best candidate of the two.

| ]

. In light of his extraordinarily impressive leadership skills. a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be the better candidate of the two.

3. In light of his extraordinarily impressive leadership skills. a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be a better candidate of the two.

4. No correction

Options :

68634043621. 1
68634043622. 2
68634043623. 3
68634043624. 4

Question Number : 7 Question Id : 68634011049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the sentence with the incorrect use of Phrasal verbs.

1. The affects of the medicine will wear off after few hours.

| ]

. The shine on the leather will wear off quickly.
3. After you drive a new car for a while. the novelty wears off.
4. If you wear the shoes everyday, you will soon wear them off.
Options :
68634043625. 1
68634043626. 2

68634043627. 3
68634043628. 4

Question Number : 7 Question Id : 68634011049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the sentence with the incorrect use of Phrasal verbs.

1. The affects of the medicine will wear off after few hours.

|

. The shine on the leather will wear off quickly.
3. After you drive a new car for a while. the novelty wears oft.
4. If you wear the shoes everyday, you will soon wear them off.

Options :

68634043625. 1
68634043626. 2
68634043627. 3
68634043628. 4

Question Number : 8 Question Id : 68634011050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the right sequence to make a meaningful paragraph.

A. Surveillance of emerging viral diseases is crucial to help early detection, monitoring

B. The concept of one' health is increasingly taking centre stage

C. As the affected countries continue to make efforts to contain the disease and another country

D. Circulation and evolution and develop effective diagnostic, prevention and control measures it as only
natural

E. Burundi, investigates a suspected outbreak of viral haemorhage fever

1.C-A-B-E-D

J

.C-E-A-D-B
3JJE-D-A-B-C
4 E-D-B-C-A

Options :

68634043629. 1
68634043630. 2
68634043631. 3
68634043632. 4

Question Number : 8 Question Id : 68634011050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the right sequence to make a meaningful paragraph.

A. Surveillance of emerging viral diseases is crucial to help early detection, monitoring

B. The concept of one' health is increasingly taking centre stage

C. As the affected countries continue to make efforts to contain the disease and another country

D. Circulation and evolution and develop effective diagnostic. prevention and control measures it as only
natural

E. Burundi. investigates a suspected outbreak of viral haemorhage fever

1.C-A-B-E-D

J

.C-E-A-D-B
3JE-D-A-B-C
4 E-D-B-C-A

Options :

68634043629. 1
68634043630. 2
68634043631. 3
68634043632. 4

Question Number : 9 Question Id : 68634011051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word 'TOIL' 1s:

1. Selective

| ]

. Strive
3. Sloth
4. Vivid

Options :

68634043633. 1
68634043634. 2
68634043635. 3
68634043636. 4

Question Number : 9 Question Id : 68634011051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most suitable antonym of the given word 'TOIL' 1s:
1. Selective
2. Strive
3. Sloth
4. Vivid

Options :

68634043633. 1
68634043634. 2
68634043635. 3
68634043636. 4

Question Number : 10 Question Id : 68634011052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sound produced in one object by sound waves from another

1. Rhyme
2. Riviera
3. Rodent
4, Resonance

Options :

68634043637. 1

68634043638. 2
68634043639. 3



68634043640. 4

Question Number : 10 Question Id : 68634011052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sound produced m one object by sound waves from another
1. Rhyme
2. Riviera
3. Rodent

4. Resonance

Options :

68634043637. 1
68634043638. 2
68634043639. 3
68634043640. 4

Question Number : 11 Question Id : 68634011053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Anjali sufferred a loss of 20% on selling an article at T2520. What was the cost price (in Rs) of the article?

1.2016

| B

. 2610
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=

4. 3500

Options :

68634043641. 1
68634043642. 2
68634043643. 3
68634043644. 4

Question Number : 11 Question Id : 68634011053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Anjali sufferred a loss of 20% on selling an article at T2520. What was the cost price (in Rs) of the article?

1. 2016

[ ]

. 2610

LS ]
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[y
Lhn
L]

4. 3500

Options :

68634043641. 1
68634043642. 2
68634043643. 3
68634043644. 4

Question Number : 12 Question Id : 68634011054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2771 + 271 = 320, then the value of 1 is :

—_
N

| ]
L=

4.8

Options :

68634043645. 1
68634043646. 2
68634043647. 3
68634043648. 4

Question Number : 12 Question Id : 68634011054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2771 + 271 — 320, then the value of 1 is :

i
..n

[
[#]

4.8

Options :
68634043645. 1
68634043646. 2



68634043647. 3
68634043648. 4

Question Number : 13 Question Id : 68634011055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A square and an equilateral tirangle have equal perimiters. What 1s the ratio of area of the equilateral triangle
to the area of the square?

1. 4:3%3
2.4:5v3
3. 4N3:3
4. 3v3:5

Options :

68634043649. 1
68634043650. 2
68634043651. 3
68634043652. 4

Question Number : 13 Question Id : 68634011055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A square and an equilateral tirangle have equal perimiters. What 1s the ratio of area of the equilateral triangle
to the area of the square?

1. 4:3v3
2.4:5Y3
3. 4N3:3
4, 3V3:5

Options :

68634043649. 1
68634043650. 2
68634043651. 3
68634043652. 4

Question Number : 14 Question Id : 68634011056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sum of 18000 is invested for 2 years. If the difference between the compound interest and simple interest
is 7405, then what is the rate of interest?

1.12%

4. 16%

Options :

68634043653. 1
68634043654. 2
68634043655. 3
68634043656. 4

Question Number : 14 Question Id : 68634011056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of 18000 1s invested for 2 years. If the difference between the compound interest and simple interest
is 405, then what 1s the rate of interest?

1.12%
2.12:5%
3. 15%
4.16%

Options :

68634043653. 1
68634043654. 2
68634043655. 3
68634043656. 4

Question Number : 15 Question Id : 68634011057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A takes twice as much time as B takes, and thrice as much time as C takes to do a work. If working together
they can do the work in 4 days, then in how many days can B do the work?

1.6

4.12

Options :



68634043657. 1
68634043658. 2
68634043659. 3
68634043660. 4

Question Number : 15 Question Id : 68634011057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A takes twice as much time as B takes, and thrice as much time as C takes to do a work. If working together
they can do the work in 4 days, then in how many days can B do the work?

1.6

4.12

Options :

68634043657. 1
68634043658. 2
68634043659. 3
68634043660. 4

Question Number : 16 Question Id : 68634011058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing towards a girl, Ankita said. "She is the mother of Sonal whose father is my son." How is Ankita
related to the girl?

1. Aunt

2. Sister-in-law
3. Mother-in-law
4. Daughter

Options :

68634043661. 1
68634043662. 2
68634043663. 3
68634043664. 4

Question Number : 16 Question Id : 68634011058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing towards a girl, Ankita said. "She is the mother of Sonal whose father is my son." How is Ankita
related to the girl?

1. Aunt
2. Sister-in-law
3. Mother-in-law
4. Daughter
Options :
68634043661. 1
68634043662. 2

68634043663. 3
68634043664. 4

Question Number : 17 Question Id : 68634011059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If in a certain language. WATER is coded as BXUSF. which word could be coded as MARCH?
1. BNSID
2. BSNID
3. BNSID

4. BMSID
Options :
68634043665. 1
68634043666. 2

68634043667. 3
68634043668. 4

Question Number : 17 Question Id : 68634011059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If in a certain language. WATER 1is coded as BXUSF. which word could be coded as MARCH?
1. BNSID
2. BSNID
3. BNSID

4. BMSID

Options :
68634043665. 1



68634043666. 2
68634043667. 3
68634043668. 4

Question Number : 18 Question Id : 68634011060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One morning after Sunrise, Rekha and Khusi were talking to each other face to face at redfort. If Kushi's
shadow was exactly to the right of Rekha, which direction Kushi was facing?

1. East
2. West
3. North

4. South

Options :

68634043669. 1
68634043670. 2
68634043671. 3
68634043672. 4

Question Number : 18 Question Id : 68634011060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One morning after Sunrise, Rekha and Khusi were talking to each other face to face at redfort. If Kushi's
shadow was exactly to the right of Rekha, which direction Kushi was facing?

1. East

| ]

. West
3. North

4. South

Options :

68634043669. 1
68634043670. 2
68634043671. 3
68634043672. 4

Question Number : 19 Question Id : 68634011061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the question mark (?) in the following series with suitable option:
C3A. ESE. G71.190. ?

1. K10M

-2

CK11U
3.K13U0
4. L11U
Options :
68634043673. 1
68634043674. 2

68634043675. 3
68634043676. 4

Question Number : 19 Question Id : 68634011061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Replace the question mark (?) in the following series with suitable option:

C3A, E5E. G71.190, 7

1. K10M

| B

CK11U
3.K13U
4.L11U

Options :

68634043673. 1
68634043674. 2
68634043675. 3
68634043676. 4

Question Number : 20 Question Id : 68634011062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the assumptions is implicit in the statement:

Statement: The railway authority has announced that it will carry out major repair work for three days
beginning Sunday on the main line connecting the two big cities in the state bringing the rail service to a halt.

Assumptions:

1. People may still plan their travel by train between the two big cities even on these three days.
II. People may reschedule their journey in view of the railway authority's decision.

Choose the correct answer from the options given below:

1. If only assumption I 1s implicit

| B

. If only assumption IT 1s implicit
3. If both assumption I and II are implicit
4. If either assumption I or assumption II 1s implicit
Options :
68634043677. 1
68634043678. 2

68634043679. 3
68634043680. 4

Question Number : 20 Question Id : 68634011062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the assumptions is implicit in the statement:

Statement: The railway authority has ammounced that it will carry out major repair work for three days
beginning Sunday on the main line connecting the two big cities in the state bringing the rail service to a halt.

Assumptions:
1. People may still plan their travel by train between the two big cities even on these three days.
II. People may reschedule thetr journey in view of the railway authority's decision.
Choose the correct answer from the options given below:
1. If only assumption I is implieit
2. If only assumption II 1s implicit
3. If both assumption I and I are implicit
4. If either assumption I or assumption II 1s implicit
Options :

68634043677. 1
68634043678. 2



68634043679. 3
68634043680. 4

Question Number : 21 Question Id : 68634011063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Country) (Capital)
A |Uzbekistan I. |Tashkent
B. |Tajikistan II. [Dushanbe
C. [Kyrgyzstan ITI. |Bishkek
D [Turkmenistan | IV |Ashgafat

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV
2. A-1. B-II. C-IV. D-III
3. A-IL. B-IIL. C-IV, D-II
4. A-L. B-IV. C-II. D-III

Options :

68634043681. 1

68634043682. 2

68634043683. 3
68634043684. 4

Question Number : 21 Question Id : 68634011063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

(Country) (Capital)
A |Uzbekistan I. |Tashkent
B. |Tajikistan II. [Dushanbe
C. [Kyrgyzstan ITI. |Bishkek
D [Turkmenistan | IV |Ashgafat

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

[ ]

. A-IL B-II. C-IV, D-ITI
3. A-L. B-IIIL, C-IV. D-II
4. A-I. B-1V. C-I1, D-III

Options :

68634043681. 1
68634043682. 2
68634043683. 3
68634043684. 4

Question Number : 22 Question Id : 68634011064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the National Human Rights Commission (NHRC) Act. 1993, who amongst the following can be
its chairman

1. Any serving judge of the Supreme court
2. Any serving judge of the High court
3. Only a retired chief justice of the Supreme court
4. Only a retired chief justice of High court
Options :
68634043685. 1
68634043686. 2

68634043687. 3
68634043688. 4

Question Number : 22 Question Id : 68634011064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to the National Human Rights Commission (NHRC) Act, 1993. who amongst the following can be
its chairman

1. Any serving judge of the Supreme court

2. Any serving judge of the High court

3. Only a retired chief justice of the Supreme court
4. Only a retired chief justice of High court

Options :

68634043685. 1
68634043686. 2
68634043687. 3
68634043688. 4

Question Number : 23 Question Id : 68634011065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct chornological order of the following events from the codes given below:

A, Poona Pact

B. Quit India Movement
C. Cabinet Mission

D. Shimla Conference

Choose the correct answer from the options given below:

1LA-B-D-C
2D-C-B-A
3.C-D-A-B
4B-C-D-A

Options :

68634043689. 1

68634043690. 2

68634043691. 3
68634043692. 4

Question Number : 23 Question Id : 68634011065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct chornological order of the following events from the codes given below:

A. Poona Pact

B. Quit India Movement
C. Cabinet Mission

D. Shimla Conference

Choose the correct answer from the options given below:
1.LA-B-D-C
2D-C-B-A
3.C-D-A-B
4.B-C-D-A

Options :

68634043689. 1
68634043690. 2
68634043691. 3
68634043692. 4

Question Number : 24 Question Id : 68634011066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): The Government of India Act. 1919 was passed by the British Parliament to introduce Diarchy
in the Provincial government.

Reason (R): Montague - Chelmsford Reforms. committee has recommended the introduction of Diarchy in
the Provincial government.

In the light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) is true but (R) s false
4. (A) 1is false but (R) 1s true

Options :

68634043693. 1

68634043694. 2

68634043695. 3
68634043696. 4

Question Number : 24 Question Id : 68634011066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): The Government of India Act. 1919 was passed by the British Parliament to introduce Diarchy
in the Provincial government.

Reason (R): Montague - Chelmsford Reforms. committee has recommended the introduction of Diarchy in
the Provincial government.

In the light of the above statements, choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) 1s true but (R) 1s false
4. (A) 1s false but (R) 1s true

Options :

68634043693. 1

68634043694. 2

68634043695. 3
68634043696. 4

Question Number : 25 Question Id : 68634011067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: The speed of Telecommunication Satellite relative to earth is zero.
Statement IT: Hence it appears to be stationary to a person on the earth.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true
Options :
68634043697. 1
68634043698. 2

68634043699. 3
68634043700. 4

Question Number : 25 Question Id : 68634011067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The speed of Telecommunication Satellite relative to earth is zero.
Statement IT: Hence it appears to be stationary to a person on the earth.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement I are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement IT is true
Options :
68634043697. 1
68634043698. 2

68634043699. 3
68634043700. 4

Part B: Hindi

Section Id : 686340220
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340368
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634011068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Y & STUR SAYFE B1d $I fafd F1 82

1. Hdd 1880-1960

[ ]

. Hdd 1890-1970
3. Had 1900-1980

4. 9dd 1910-1990



Options :

68634043701. 1
68634043702. 2
68634043703. 3
68634043704. 4

Question Number : 26 Question Id : 68634011068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTET Y & HTHR Y[ PId DI Safdl 1 g2

1. Tdd 1880-1960
2. Had 1890-1970
3. Fdd 1900-1980
4. Fdd 1910-1990

Options :

68634043701. 1
68634043702. 2
68634043703. 3
68634043704. 4

Question Number : 27 Question Id : 68634011069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afafead ¥ T fog andes 83l Tem 3R SU-aM &1 Wod gide™ oa- (a1 82
1. 9 [PRIR Fad

. Afer faerae ot

3. TI9Te g

PR faud

Options :

68634043705. 1

68634043706. 2

68634043707. 3
68634043708. 4

| S

e

Question Number : 27 Question Id : 68634011069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foafalRaa 3 O o amdas 3 B3 Fert IR SU-0 &1 Wad sfds™ oE- fear g2
1. 7 [PRIR Tad

. Afer faeraa ot

3. TI9Te 3G

. AR faud

Options :

68634043705. 1

68634043706. 2

68634043707. 3
68634043708. 4

| ]

.

Question Number : 28 Question Id : 68634011070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e @t =1 geriiar A fid &id 3 yuiidd gie &1 52
i :

2. PR
3. PEAR

4
Options :
68634043709. 1
68634043710. 2

68634043711. 3
68634043712. 4

Question Number : 28 Question Id : 68634011070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tiidraeth 1 91 gerdiar A 9 Bid 9 vuifad slex 31 82
1. IHAS
2. &
3. PER
4. 95

Options :



68634043709. 1
68634043710. 2
68634043711. 3
68634043712. 4

Question Number : 29 Question Id : 68634011071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o T & SR UHa=< A o0H 6" 390 &1 W 84l &1 dgaii Alda &8l 52
1. JHTHH
RG]

| ]

F=s

g

Options :

68634043713. 1
68634043714. 2
68634043715. 3
68634043716. 4

Question Number : 29 Question Id : 68634011071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o T & SR UHa=< A o0H (6" 390 &1 W f84] &1 dgaii Alda Fel 52
1. JATHH
RG]

| ]

.

g

Options :

68634043713. 1
68634043714. 2
68634043715. 3
68634043716. 4

Question Number : 30 Question Id : 68634011072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AfABTeH Bid gg - U Aild-pied oy Ba 3 forar g2

4, JR&T

Options :

68634043717. 1
68634043718. 2
68634043719. 3
68634043720. 4

Question Number : 30 Question Id : 68634011072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el 3 98 7 oo e g g & forar &
1. eWY
4. GRAI
Options :
68634043717. 1
68634043718. 2

68634043719. 3
68634043720. 4

| o]

L5 ]

Question Number : 31 Question Id : 68634011073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR R B Gl & TGP 6
1, 9o 8
2 TSR Uisy
3. Yefaery 2l
4. foenfarg fay

Options :



68634043721. 1
68634043722. 2
68634043723. 3
68634043724. 4

Question Number : 31 Question Id : 68634011073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR R B Gl & TGP 6
1. TR ¥
2 TSR Uisy
3. Yefaery 2l
4. faenf=arg iy

Options :

68634043721. 1
68634043722. 2
68634043723. 3
68634043724. 4

Question Number : 32 Question Id : 68634011074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e BT 915 PR 9. @ I Y@ g F | SR THIG RAdorar, 311 39 fay-ge= #11» Sudad dfsat
o B &1 g2

1. giAFeT gd
2. SIORHR UG
3. Hgladl adl

4. gdepid HUTa! (Te

Options :

68634043725. 1
68634043726. 2
68634043727. 3
68634043728. 4

Question Number : 32 Question Id : 68634011074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I BT 918 AR g4, 9 U & Site- T | S8 guTd feasuar, o1y 39 fay-ge= &1 1 Sudad dfdaat
forg wfa ot 8

1. gAreT da

2. SORHR UG

3. TgTed! g

4. ghoia Bore! R

Options :

68634043725. 1
68634043726. 2
68634043727. 3
68634043728. 4

Question Number : 33 Question Id : 68634011075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR Y R AR oy TitasR § defia e

1. fde qaf

 BIRETRE =7
4. TR1aysH wET

Options :

68634043729. 1

68634043730. 2

68634043731. 3
68634043732. 4

[ ]

L¥N]

Question Number : 33 Question Id : 68634011075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Y R HHBY] [T QieadR 4 Feled g2
1. i anf
2. 91USy &9 i ST
3. EREIRY §=I
4. TRaysH W™

Options :

68634043729. 1
68634043730. 2
68634043731.3
68634043732. 4

Question Number : 34 Question Id : 68634011076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

de 3R TE SUAN & TR o
1. BARIYTE fgadt

2. AT AR
3. YHAR YRG!
4, AYeTd g

Options :

68634043733. 1
68634043734. 2
68634043735. 3
68634043736. 4

Question Number : 34 Question Id : 68634011076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

de 3R TE SUAN & TR o
1. goiRiure fgadl

. ST AR

3. YHAR YRl

4. FAYRETS G

| )

Options :



68634043733. 1
68634043734. 2
68634043735. 3
68634043736. 4

Question Number : 35 Question Id : 68634011077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'HYENT B RITTHT g B2

Options :

68634043737. 1
68634043738. 2
68634043739. 3
68634043740. 4

Question Number : 35 Question Id : 68634011077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PETT BT RG] fhe Db
1. IHAMHg
2. qeRHTE

3. IEEEN
4. fagamy

Options :

68634043737. 1
68634043738. 2
68634043739. 3
68634043740. 4

Question Number : 36 Question Id : 68634011078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"IN GR HaR Pl HaRGk HUPR Ul d aofl & fSacex 41" gg by (69 fdgH 3182
1. TR &9
2. AR drergdt
3. BORITETE fgadl
4.1 AR

Options :

68634043741. 1
68634043742. 2
68634043743. 3
68634043744. 4

Question Number : 36 Question Id : 68634011078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT IR HER BT olaig ] ISR uTl 3 anf & e 1 ms sya g fagr @ e
1. TR g9
2. AR drergdt

o o oy

3. GOIRIVIG fgddl
4. 81 T=%

Options :

68634043741. 1
68634043742. 2
68634043743. 3
68634043744. 4

Question Number : 37 Question Id : 68634011079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST TTHS T & A BH 82
1. faemeR
2. YRIER
3. e

4. TR

Options :



68634043745. 1
68634043746. 2
68634043747. 3
68634043748. 4

Question Number : 37 Question Id : 68634011079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST THS TY F AR BH 82
1. fa=mR
2. IRATER
3. 5T
4, TeATeR
Options :
68634043745. 1
68634043746. 2

68634043747. 3
68634043748. 4

Question Number : 38 Question Id : 68634011080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TeTd! anl gRT U 4ae B HISaT BT yH<H oy o1 82

1. 1936

| B

. 1942
3. 1946
4. 1949

Options :

68634043749. 1
68634043750. 2
68634043751. 3
68634043752. 4

Question Number : 38 Question Id : 68634011080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Teredt auf gRT I Rae 3 Bt &1 HeRH gy ®& g?

1. 1936

-2

. 1942
3.1940
4. 1949

Options :

68634043749. 1
68634043750. 2
68634043751. 3
68634043752. 4

Question Number : 39 Question Id : 68634011081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o
[
o
[}

N

4, 1972

Options :

68634043753. 1
68634043754. 2
68634043755.3
68634043756. 4

Question Number : 39 Question Id : 68634011081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“d
—
o
o
LN

3. 1971
4. 1972
Options :

68634043753. 1
68634043754. 2



68634043755.3
68634043756. 4

Question Number : 40 Question Id : 68634011082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g @t sifcH fbror 8 g @ ggell foozur do fog s @t pid &2
1. &R T
2, HIg-T THT
3. YAy
4. g adl

Options :

68634043757. 1
68634043758. 2
68634043759. 3
68634043760. 4

Question Number : 40 Question Id : 68634011082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g @t sifcH fbror 8 g @ ggell foozur do fog s @t pid &2
1. &R T
2, HIg- TH
3. YAy
4. g adl

Options :

68634043757. 1
68634043758. 2
68634043759. 3
68634043760. 4

Question Number : 41 Question Id : 68634011083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ T e iy

THY UH Y43 ool [Gas! sied-uld g7
1. Jerdier™

2. qRE
3, ST

4. g

Options :

68634043761. 1
68634043762. 2
68634043763. 3
68634043764. 4

Question Number : 41 Question Id : 68634011083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THY UH Y43 ool [Gas! sied-uld g7
1. Jerdier™

2. PR
3, ST

4. g

Options :

68634043761. 1
68634043762. 2
68634043763. 3
68634043764. 4

Question Number : 42 Question Id : 68634011084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'S W B &1d g [ o0 Al & ferg f§dl 1 snft o su S bl iy Yxad ol fardl 1, forgd garl
U= Fald, ai= siaAld o1 auid ol 81 SR yidwq & fofu uicrg ot 1" Sad S fod -1 &1

YIHeT &7 39 52
1. 9%
2. 3{T91G T U f&
3. HRA-HR!

. TIHid & =R ey

.

Options :

68634043765. 1
68634043766. 2
68634043767. 3
68634043768. 4

Question Number : 42 Question Id : 68634011084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"gS WE DI ald o I od ANl & [o 541 I el 9o g0 e &1 i J&a® el (ol 1], Ty gaRd
T FAfd, @t gt &1 v 11 81 ofR yiawd & e Uiere " Sad Sy g -1 31

i1 31 3R 2
1. H
2. 3{T91G T U f&
3. HRA-HRd!

. HIPHTd & =R g

e

Options :

68634043765. 1
68634043766. 2
68634043767. 3
68634043768. 4

Question Number : 43 Question Id : 68634011085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



amqlﬂ?ﬂg’ .ﬂﬁgﬁ?ﬂﬂﬁw.ﬁﬂmﬁ?ﬁﬁ@@ﬁﬁmmﬁmamﬁqm = fec] TauT Rl &1 Wy Ta=
fparg?

1. THES gad

2. goRyTe faadt

3. oy gEt

4, R g
Options :
68634043769. 1
68634043770. 2

68634043771. 3
68634043772. 4

Question Number : 43 Question Id : 68634011085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aﬂﬁmﬂg’ .ﬂﬁgﬂ?w@ﬁaﬁﬁﬂmﬁ?ﬁ:ﬁﬁ@ﬁ%mmﬁmaﬁ%ﬁ%ﬁwwww
farg?

1. THES gad
2. BORIVTE fedel
3. Jfaarg I

4, THR &g

Options :

68634043769. 1
68634043770. 2
68634043771. 3
68634043772. 4

Question Number : 44 Question Id : 68634011086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fgfaied § 9 &= AR grr Id Sua Al 87

1. AW

| ]

HAPT

. ZXgdt
4. WHTGdl

Lad

Options :

68634043773. 1
68634043774. 2
68634043775. 3
68634043776. 4

Question Number : 44 Question Id : 68634011086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaRad § I oF e grr = ST T8 22

1. A

| ]

S NG

. SRIadt
4. GHTGd

L5 ]

Options :

68634043773. 1
68634043774. 2
68634043775. 3
68634043776. 4

Question Number : 45 Question Id : 68634011087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iy F1E-l A 319 69 A1ee &l &id SISl B ¥ dl 82
1. STHR
2B
3. g3fraol
4.3 ¢ gEdl Il

Options :



68634043777. 1
68634043778. 2
68634043779. 3
68634043780. 4

Question Number : 45 Question Id : 68634011087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iy T 7 3 5 Aes &1 =i SISl B S al 8
1. ATEHIR

2 B
3. g3y
4. ¢ Yl IIel

Options :

68634043777. 1
68634043778. 2
68634043779. 3
68634043780. 4

Question Number : 46 Question Id : 68634011088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G WP B T Siia- AT BT YHIL au o

1. 1968

| o]

. 1946
3.1963
4. 1953

Options :

68634043781. 1
68634043782. 2
68634043783. 3
68634043784. 4

Question Number : 46 Question Id : 68634011088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



\{|§l‘1 *HII?MIH"I Ehﬂf <d-] '\JﬂCH OTAT ] U3 fﬂf%

1. 1968
2. 1946
3.1963
4. 1053

Options :

68634043781. 1

68634043782. 2

68634043783. 3
68634043784. 4

Question Number : 47 Question Id : 68634011089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"OfE 31 FoHT T AT | <5fE g5 TG U1 q1vrs | I Uit g o 31§

LS g
2. el
3. PpUGHI

Options :

68634043785. 1

68634043786. 2

68634043787.3
68634043788. 4

Question Number : 47 Question Id : 68634011089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"OfS3 Fore O SaATUI3 | S5fe g5 99 U1 J10rsf | 4 digaal few S &t 82
1. d9eavars
2. AReUl
3. $ueHl
4. Sifqar

Options :
68634043785. 1



68634043786. 2
68634043787. 3
68634043788. 4

Question Number : 48 Question Id : 68634011090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SURIHR WG Bi el U frg uiHeT § yeiird gg o
1. TRl

%5

3. dlg

HTeRd

Options :

68634043789. 1
68634043790. 2
68634043791. 3
68634043792. 4

| S

.

Question Number : 48 Question Id : 68634011090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SURIHR WG Bi el U frg uiHeT § yeiird gg o
1. TRl

e

TR

Options :

68634043789. 1
68634043790. 2
68634043791. 3
68634043792. 4

Question Number : 49 Question Id : 68634011091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SR & AT [ ] el 9UE 62
1. o=
2. 33T
3. MRPId
4. HIgT THY

Options :

68634043793. 1
68634043794. 2
68634043795. 3
68634043796. 4

Question Number : 49 Question Id : 68634011091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR & AT [ ] el 9UE 62
1. o=

IR

3. MRPId

4. HIgT THY

| )

Options :

68634043793. 1
68634043794. 2
68634043795. 3
68634043796. 4

Question Number : 50 Question Id : 68634011092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ ot o (Hae H9g [daR dldh &1 uRmried 99 32
1. fer=amafor (Urt-1)
2. Termamafor (um-2
3. Ta=amafor (41-3)
4. Ta=aTH{oT (HTTT-4)

Options :



68634043797. 1
68634043798. 2
68634043799. 3
68634043800. 4

Question Number : 50 Question Id : 68634011092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y& ot & ey TUe faar @t @ ot dwe
1. fermHioT (HFT-1)
2. Te=arafor (4I-2)
. TR for (4AT-3)
 Fer=amHioT (UFT-4)

5]

e

Options :

68634043797. 1
68634043798. 2
68634043799. 3
68634043800. 4

Question Number : 51 Question Id : 68634011093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AT - fern § T gfag™ ¥ 9e $o guid §id U o S 6. AR pyI 9iied § 96 3o
HTeate gid gU ot a8 T B 1 78 FU [hud &

1. U
3™

4, e aa
Options :
68634043801. 1
68634043802. 2

68634043803. 3
68634043804. 4

| ]

5]

Question Number : 51 Question Id : 68634011093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U I - o/l § (b slaer o 9d oo gurd 5id gU ol sa 8. IR dur i 4 99 o5
B gid U Ul 98 T § I" I8 DU [HHPI o7

1. UHEg
R D

1. T
Options :
68634043801. 1
68634043802. 2

68634043803. 3
68634043804. 4

| S

LS ]

Question Number : 52 Question Id : 68634011094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'3 WT0T U 1 T BT
1.9
2.8
3.%
4.4
Options :
68634043805. 1
68634043806. 2

68634043807. 3
68634043808. 4

Question Number : 52 Question Id : 68634011094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
31T W07 U T T PHifoTu:

1.9

| )

3



Options :

68634043805. 1
68634043806. 2
68634043807. 3
68634043808. 4

Question Number : 53 Question Id : 68634011095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qoig YR B §aia awR [a31e o9 SdE $1 82
1. ERIgleTaR®
2. Tl Wpex
3. T HUS

4. 9E TpcR

Options :

68634043809. 1
68634043810. 2
68634043811. 3
68634043812. 4

Question Number : 53 Question Id : 68634011095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'qoiq YR B! goig a9 R G99+ 69 IdrE 31 8?
1. ERIgleTaR®
2. Tl Wpex
3. AT HTS

4. QPR

Options :

68634043809. 1
68634043810. 2
68634043811. 3
68634043812. 4

Question Number : 54 Question Id : 68634011096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG & Hg@yul A1ed HrdH gdl Hed DI HHRUI e URH §3H1?

1. 1936

| )

. 1949
3. 1957
4. 1960
Options :
68634043813. 1
68634043814. 2

68634043815. 3
68634043816. 4

Question Number : 54 Question Id : 68634011096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THRET & Ag@yUl ATes HRIHH a1 H5d BT TR Hd URY 5317

1. 1936

| )

. 1940
3. 1957
4. 1960

Options :

68634043813. 1
68634043814. 2
68634043815. 3
68634043816. 4

Question Number : 55 Question Id : 68634011097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T efifiiet 1w s arelt ugeh HER I 8-

[

fEgwH IR
. FHER YRl
gHardi

i 1

Options :
68634043817. 1

| ]

(5]

=N



68634043818. 2
68634043819. 3
68634043820. 4

Question Number : 55 Question Id : 68634011097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR efiftiet &1 wahT S aTell Ugel YEER IiEfd 8-

1. lGg &M 49=R

| ]

. YHMER YRl
giardi
Y1 |

Options :

68634043817. 1
68634043818. 2
68634043819. 3
68634043820. 4

L ¥ ]

FEs

Question Number : 56 Question Id : 68634011098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafed § ¥ &H o oY= fea Tee i T adt T &
1. STl e, SR U9 e Ia1sfl &I g & e e 9 g
2. GRAR & R EfH-gHIa] GR1 S4Bl 81
Ol 1 S-SR & WR SR dle & e d ygdrE ol ¢ |
4. 9T 1 e oifte I B

[ 5]

Options :

68634043821. 1
68634043822. 2
68634043823. 3
68634043824. 4

Question Number : 56 Question Id : 68634011098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafaiad 4 9 &H 91 duq Ml 9ied & ey 4 98l 78l o7
1. STl e, SR Ud e Iarsfl &I G- & U fomar 9mar g
2. TRARI BT R 3 -941aT §RT H4a 8l
3. O 1 S-SR & WR 3R Sie & e I Ug=HI ol g |
4. qrEif 1 T oifte B B

Options :

68634043821. 1
68634043822, 2
68634043823. 3
68634043824. 4

Question Number : 57 Question Id : 68634011099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIA-gq b SRl URUIG UAHT T SR 5 =19 & S=1 Sl 82

1. Fgura
2. qifd
3.4
4. gHEIY

Options :

68634043825. 1

68634043826. 2

68634043827. 3
68634043828. 4

Question Number : 57 Question Id : 68634011099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HT-Bq & SfTd TR TiAHT & 3R & 919§ S o 82
1. Fgur
2. Qe
3. ST
4, JHIY

Options :



68634043825. 1
68634043826. 2
68634043827. 3
68634043828. 4

Question Number : 58 Question Id : 68634011100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=g TR Afe AR 7Y, A6 faem s &1a| siell Sl fs 9 det, 3 $1F gara | 1" SH alg J SF-a1
FHI-HaIoH o7

—

. IdgR o1 I
DI UG
. faquftr &1 fFarr
4. Y DI I

| ]

[ 5]

Options :

68634043829. 1
68634043830. 2
68634043831. 3
68634043832. 4

Question Number : 58 Question Id : 68634011100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

+Afg G =g AR 7Y, 7 foom 2t o) s ot fg 9 9. s P ga@ 1 U aR H P
BIH-YAIeH 82

1. HdgR 13T+

2. BAMEHATT 3969
3. fagfy @1 fFaRor
4. ¥ DI T

Options :

68634043829. 1
68634043830. 2
68634043831. 3
68634043832. 4

Question Number : 59 Question Id : 68634011101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHITA-GIT g ST T I 52
1, ®Iog-Hg
2. BTN
3. DI

4. dlo-I&0]

Options :

68634043833. 1
68634043834. 2
68634043835. 3
68634043836. 4

Question Number : 59 Question Id : 68634011101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SETTA-gRT [T S T &1l 57

1. BIA-Ug
2. BIH-FH
3. BIA-g
4. HToI-TIE0]

Options :

68634043833. 1

68634043834.2

68634043835. 3
68634043836. 4

Question Number : 60 Question Id : 68634011102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
far fagH = HagfS IaHURI &1 FATA S &1 BT &1 Ud Waie O 62
1. Hid{ S

2. HHC

3. 3Haada

4, Pdd

Options :



68634043837. 1
68634043838. 2
68634043839. 3
68634043840. 4

Question Number : 60 Question Id : 68634011102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o fag A e IS uRI &1 FRféd o3 &1 $1ed &1 U Wiie TH 82
1. WRdgH

. HHC

| ]

3. HeadH

4, Pdd

Options :

68634043837. 1
68634043838. 2
68634043839. 3
68634043840. 4

Question Number : 61 Question Id : 68634011103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘T T SR T B X B3, TR T DA TY1 TRd] A o BRU Rfded. ey R 30arg J <=
RF U § 1" U8 $YUF [bHPl 57

1. grye

2. DA Ay
3.%5¢

4. gHES

Options :

68634043841. 1
68634043842. 2
68634043843, 3
68634043844. 4

Question Number : 61 Question Id : 68634011103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"I T SR I Pl g B, TR FU S a1 ARl o1 ob BRUI Lickd, il 3R /g 4 A1
RH UId § 1" 96 By [bdd1 52

1.dPHC
2. SRS SHTAY
3.9qc
4. gHdE
Options :
68634043841. 1
68634043842. 2

68634043843. 3
68634043844. 4

Question Number : 62 Question Id : 68634011104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HafaEad S e ae P A g?

1. O9 g DI 9 ol S|

2. 79 ITU<S T8 HIH 9 o] oIl

.Y 79 U8 H1H A% el S|

LS ]

4. T9 I8 HTH UTUE =3 ol S|

Options :

68634043845. 1
68634043846. 2
68634043847. 3
68634043848. 4

Question Number : 62 Question Id : 68634011104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HfafaRad O ¥ s 9 H |1 82

1. 04 U8 H1H 91X ol S|

2. 79 ITU<S T8 HIH 9 o] oIl

L]

. YTUE Od U8 ®IH 3{a=d 8l S|

. T4 U B1H TM0E TR ol ||

Fes



Options :

68634043845. 1
68634043846. 2
68634043847. 3
68634043848. 4

Question Number : 63 Question Id : 68634011105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g9 ®Id & fbds U 8id &2
1. dH

[ )

cdR

e

3. 019
4. 9%

Options :

68634043849. 1
68634043850. 2
68634043851. 3
68634043852. 4

Question Number : 63 Question Id : 68634011105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gdHT T & fba U Bld o2
GG

[ )

cdR

)

3.4

4. 9%

Options :

68634043849. 1
68634043850. 2
68634043851. 3
68634043852. 4

Question Number : 64 Question Id : 68634011106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d HHA ug § oiF 91 98y 87

1, ggsiife
2, Iy
3. HgdtHIa
4. PHYRY

Options :

68634043853, 1

68634043854. 2

68634043855. 3
68634043856. 4

Question Number : 64 Question Id : 68634011106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HaFa IS B I IHE T

1. 9gsife
2. Y
3. HSOUiyIG
4, PHYRY

Options :

68634043853. 1

68634043854, 2

68634043855. 3
68634043856. 4

Question Number : 65 Question Id : 68634011107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & SHaTa TIOT R 1 &1 Ad 82
1. @&y
2. ey
3. &
4. Afyerry

Options :



68634043857. 1
68634043858. 2
68634043859. 3
68634043860. 4

Question Number : 65 Question Id : 68634011107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & SHaTa TIOT R 1 &1 Ad 82
1. g@&y
2. ey
3. &

4, fergred

Options :

68634043857. 1
68634043858. 2
68634043859. 3
68634043860. 4

Question Number : 66 Question Id : 68634011108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gl P2 UL 5. U STUSYT A & =9 8 [¢1%d ¢ dl g8 34 BRUTR & =4 H:
TP A: [Femafa 3 ey #1 siagg I el HUR a9 B
PRI R: Wb G&pd B 30 a1 1 &1 fedl i 1 Mfauia I o Jbe & |
SR B & 3fTdre 4, 1 QU T faeel I ¥ 999 3uged 3R & 999 SI1ag
1. A SRR G T8l § AR R. A D! U5l AR 8
A SRR G Tl & $IRR. A DI U6l URAT 761 &
AT EAFIR TS TR
L AT TR g APIR TE &
Options :
68634043861. 1
68634043862. 2

68634043863. 3
68634043864. 4

| o]

L]



Question Number : 66 Question Id : 68634011108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 g Py Rr T E. U Sfie YT A F T 0 H ff8d € O R 39S SRR & =9 1
YD YT A: [GEYlT A THUT B 3Hagg J I HeR §a™l 6 |
SR R: b Gxpd 1 SildH srae1 ol g [6dl Fifiged BT siduid JH1 S bl 5 |
BRI 2 & 3l 4. A1 [T [deedl I ¥ §99 Iuged 3ok & 90 BIou
1. A 3R R G 81 § 3R R. A D! U5l ARAT 8
A SRR TE € SRR AT S R T ©
3. ATEI R AfFTR TET A
4. A UG T8I ¢ Al R TEl ©

Options :

68634043861. 1
68634043862. 2
68634043863. 3
68634043864. 4

| S

Question Number : 67 Question Id : 68634011109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il gl BY [4U U B, Us SfUSHYT A & =9 ¥ G194 § Il GR1 39 PRUTR & U H
iy A: OIS fGad! 37 ST &1 IR-8R T S EI1 3§
BRI R: 30 ST P 7T HEHI d U B 5ide & a2 & §o- 4 Jad PR Ad ¢ |
SWRITd B & 3fTare 4, 1 fGU T aeel I ¥ 999 Fugad 3aR @] 947 DITut:
1. A R R I 981 € AR R. A P Hel oURaT 8
A SRR G Tl & $IRR. A DI U6l URAT 761 &
AT T AGTR TG TSR
AT TR g APTIR TS ©

Options :

68634043865. 1
68634043866. 2
68634043867. 3
68634043868. 4

| o]

L]

ahan



Question Number : 67 Question Id : 68634011109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 g Py Ru T E. U ey A F T H 8 d € 9 IR S99 SRR F T H
HFUBYT A: FARIVAIE f5adl 307 STl &1 §R-GR 70 B U3 & § |
BRI R: Y- SUTH B T PR d U4 Dl Sdg & d2 & §¢- I Gad B d © |
BRI B & 3feie 4. A1 U T [deedl I ¥ §99 Iugad 3a2 &l 907 DIIeU;
1. AR REF T8l ¢ 3R R A DI Tol AT §
A SRR TE € SRR AT S R T ©
AT R AT R T AE
4. A UG T8I ¢ Al R TEl ©

Options :

68634043865. 1
68634043866. 2
68634043867. 3
68634043868. 4

| S

Question Number : 68 Question Id : 68634011110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il gl PY 4T T, Us SfUSYT A d =9 [R1Rad § ol GORI 39 PRUTR & =0 4
U A: T 3R 3 1 g Fau B
ST R: TeEL1ad & FaY F Teq 3R 312 1 faaR 78 fooa ofra |
SR B & 3fTare 4, < QU T faeel I ¥ 999 3uged 3R & 999 SIaC:
1. A R R I 981 € AR R. A P Hel oURaT 8
A SRR G Tl & $IRR. A DI U6l URAT 761 &
AT T AGTR TG TSR
AT TR g APTIR TS ©

Options :

68634043869. 1
68634043870. 2
68634043871. 3
68634043872. 4

| o]

L]

ahan



Question Number : 68 Question Id : 68634011110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 g Py Rr T E. U Sfie YT A F T 0 H ff8d € O R 39S SRR & =9 1
HFUBYT A: Weg 3R 3 T g dau B
PRUT R: WsaLa] & Heitl H Weg 3R 31 &1 fa=R el foar S |
BRI 2 & 3l 4. A1 U T [dedl I ¥ §99 Iuged 3ok & 994 BIHT:
1. A SR R &I 8l § IR R. A D! Ugl ARAT &
2. A SRR M T2 € 3R R. A B O e e ©
AT R AT R T AE
4. A 98I T8I & Al R Hel &

Options :

68634043869. 1
68634043870. 2
68634043871. 3
68634043872. 4

Question Number : 69 Question Id : 68634011111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il gl PY 4T T, Us SfUSYT A d =9 [R1Rad § ol GORI 39 PRUTR & =0 4

HTUSYT A WIS [gal 3 UI-fasH $T srugad Y-fa9H & sidila Suwmar & =9 o
famfed g3 o

PR R : TIH0S YN DT W, TH1Ue §H1 TP T8I 6 |

SR B & Tl 1, 1 ST T fGded] I ¥ 999 Fugad 3R &1 99 SITot,
1. A IR R I 981 € AR R. A P Hel oURa 8
2. A SRR G UEI & SR R. A DI Te! URAT 761 &
3. AYEI § Ol R T8I ol §

4. ATEI Tl S AfPTR WS ®

Options :

68634043873. 1
68634043874. 2
68634043875. 3
68634043876. 4




Question Number : 69 Question Id : 68634011111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gl P2 UL 5. U STUSYT A & =9 8 [¢1%d ¢ dl g8 34 BRUTR & =4 H:

HTUSYT A WIS [gal 3 UI-fasH $T srugad Y-fa9H & sidila Suwmar & =9 o
famfed g3 o

PR R : TIH0S YN DT W, TH1Ue §H1 TP T8I 6 |

SR B & e 1, 1 AU T faeed] I ¥ §99 Fugad 3R &1 99 SIT,
1. A IR R I 981 € AR R. A P Hel oURa 8

. A SRR G Tl § SRR, A DI Ue! URAT 761 ©

3. AT R AT R T A

4. AGEI TSl SAPIR TS

Options :

68634043873. 1
68634043874. 2
68634043875. 3
68634043876. 4

| ]

Question Number : 70 Question Id : 68634011112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 g Py Rr T E. U Sfie YT A F T 0 H ff8d € O R 39S SRR & =9 1

AHfUPYT AT FAR B JraTfore Ia-1 Hdd TER 8. A 3% Wi-gaeit faari & wgl-ael
TP TC P 0fdT T UHIG B

BRI R: TGS HAGwT SR Wbl Uishar o Ay 92l Yad Hiadl ol dae Uh ol o |

BRI B2 & 3l 4, A1 U T [dedl I ¥ §99 Iuged 3ok & 994 BIHT:
1LASRREH 9§ AR R AT T TrEm g

AR R A 9T € IR R, AT Tl TR 7ol §

3. AT S AfR 39A ©

-

4 AT e AfPAR TS

Options :
68634043877. 1
68634043878. 2



68634043879. 3
68634043880. 4

Question Number : 70 Question Id : 68634011112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gl P2 UL 5. U STUSYT A & =9 8 [¢1%d ¢ dl g8 34 BRUTR & =4 H:

HUPYT AT TR D GrEIfS Id4T Hdd YR g, dfdh- 37 wi-Had foaRi § @el-pol
gePHTel b [0idl BT WHTG § |

HROT R: G TG 3R Fipias uibar & 1y Tt vad Hiaal &1 ¥ey U o g |
SR B2 & 3fTare 4, < QU T aeedl I ¥ 999 3uged 3R & 999 SIas:

1. A SRR EF GA § SRR, A B Tl RS T
ASIRREF I § SRR, AP U5l ORA 8l §

3. AU E AR 39T E

| ]

4. ASEAR AR TAE
Options :
68634043877. 1
68634043878. 2

68634043879. 3
68634043880. 4

Question Number : 71 Question Id : 68634011113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3 Py U MU . U fieyT A H =0 H ff8d € 9 R S5 SRR F =0 1.
Py A3l Y 3Rl & I19-0 39 & SR 3P 0d 9 S [dPR 8id1 8. 39 I $ed §
ST R: 31 TR & U 3= § o I gl B, 59 W= 9 Sed g
SR B & e 1, 1 G0 T fGedl I ¥ 999 JUgad 3wk & 994 BIs:
1.ARRIF TAE AR R AT TSl AREN B
ASRRET TA T SRR, A DI TEI ORA 781 ©

3. A9 Al R 3T &

| ]

4. AT APIRTTE

Options :
68634043881. 1



68634043882. 2
68634043883. 3
68634043884. 4

Question Number : 71 Question Id : 68634011113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3 Py U MU . U fieyT A H =0 H ff8d € 9 R S5 SRR F =0 1.
firy A< Y 31erl & U o & SR SHE B9 9 o [qPR 8iaT 3. 39 S SEd B
ST R: 31 W1 & U 3= § & I 8l 8. 39 TR 9 Hed g
SR B & e 1, 1 G0 T fGedl I ¥ 999 JUgad 3wk & 994 BIs:
1.ASRREH U T IR R. A DI gl TR 7
2. A SRR &I 9 ¢ SRR, A $| U&| IR T8 ©

3. A9 Al R 3T &

4 ANTICAPIRTTE
Options :
68634043881. 1
68634043882. 2

68634043883. 3
68634043884. 4

Question Number : 72 Question Id : 68634011114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 g Py Rr T E. U Sfie YT A F T 0 H ff8d € O R 39S SRR & =9 1
AFUBYT A: P1T BT WG9 e qul T AHRR A © |
®RUTR: 3IoA I ADIR 3 B W gl 5|
BRI 2 & 3l 4. A1 U T [dedl I ¥ §99 Iuged 3ok & 994 BIHT:
1. AR REH U T IR R. AP &l U= §
2. ASRREF O E IR R AP T TRAT T ©

3. AT S AfR 3T ©

4, AT APTIR IS

Options :
68634043885. 1



68634043886. 2
68634043887. 3
68634043888. 4

Question Number : 72 Question Id : 68634011114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3 Py U MU . U fieyT A H =0 H ff8d € 9 R S5 SRR F =0 1.
ARUPHYT A: T T Ted He@qul WaeH THR e § |
HRYTR: 3o I ADIR 3 B WIS el 5|
SR B & 3fTare 1, 1 G0 T fGdedl I ¥ 999 JUgad 3wk & 99 SIIT:
1.ASRREH U T IR R. A DI gl TR 7
ARRIFIAE IR R. A DI U5l ORA 78l &

3. A9 Al R 3T &

| ]

4. ATIAPIRII

Options :

68634043885. 1
68634043886. 2
68634043887. 3
68634043888. 4

Question Number : 73 Question Id : 68634011115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST ¥ SHER Fefatad sfagt o1 aet s -

A. 4. gleR Ura®
B. SO¥[H UG
C. BiRR Iw
D. WHARMY GlUSy

E. Heladl adf
Hid fSu U f[deedl & 3 Hel IR &1 994 Il

1. C, ABE.D

2.DAEB, E

33EEB.C.D.A

4. A C.B.E.D



Options :

68634043889. 1
68634043890. 2
68634043891. 3
68634043892. 4

Question Number : 73 Question Id : 68634011115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Al & 18R Fafaiad ofadl @1 ag! s Py 6-
A. 1. 4itR U6
B. SOYH UG
C. BRI
D. WHAREY 9Usy
E. Heledl gl

=i feu 7Y fawedt 7 2 Het ST &1 90 Do

1. C,A.B.E,D

| ]

CBUALESB, B
3 H.B Gl A
4. A C.B.E.D

Options :

68634043889. 1
68634043890. 2
68634043891. 3
68634043892. 4

Question Number : 74 Question Id : 68634011116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT aY &1 €Y I Fafafad Seidl &1 98l 3HH 6:

A TP g
B. TIRE a4 @] THY
C. galg arail
D. 5gHdl
E. 39- gyl
i fU T fae et O T el ST &1 99+ Biulu:
1.AC.D.E.B
2.B.A.C.D.E
JJ.C,ILA B E
4. DA B.C.E

Options :

68634043893. 1
68634043894. 2
68634043895. 3
68634043896. 4

Question Number : 74 Question Id : 68634011116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 7Y @1 2 § Fafafaa seifat o ugt s e §:

A TP g
B. WIRE gy &1 U9y
C. galg arcl
D. 5gHdl
E. 39 gl Ul
i fU T fae et O T el ST &1 99+ Biulu:
1.A.C.D.E.B
2.B.A.C,D.E
3.C.D.A.B.E
4.D.A,B.C.E

Options :

68634043893. 1
68634043894. 2
68634043895. 3
68634043896. 4



Question Number : 75 Question Id : 68634011117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oI &1 28 I Rgferad sfodl &1 Jei o9 o

A TSR

B. Sa¥-(HTTPER)
C. G
D.3e™
E. SITa4t
i fGu T faeel O U el ST 31 99+ Sl

1A B.CD,E

2B.CD B A
3 BA.C.D.E
4.D. A E.B.C

Options :

68634043897. 1
68634043898. 2
68634043899. 3
68634043900. 4

Question Number : 75 Question Id : 68634011117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oI &1 28 ¥ Rgferad sfadl &1 Je v o

A ggaiEl

B. GqHA(HAPER)
C. G
D.3e™
E. SIIa4l
i fU T fae et O T el ST &1 99+ Biulu:

1A B.CD,E

2B.CD B A
3.B.A.C.D.E
4.D. A E.B.C

Options :
68634043897. 1



68634043898. 2
68634043899. 3
68634043900. 4

Question Number : 76 Question Id : 68634011118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR RI I FafeiEd Su=amdl &1 9gl 31w d ©-

= fou e fowedi © T 96 SR &1 994 By

1.B.E, C, I A

| ]

BB AT
3.JALE.B.C.D
4.A.B.C.D.E

Options :

68634043901. 1
68634043902. 2
68634043903. 3
68634043904. 4

Question Number : 76 Question Id : 68634011118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR RI I FafeiEd Su=amdl &1 9gl 31w d ©-

A fdam

B. GGl HIHS

c. ffan

D. 331 59

E. SUGlel

i< feu T faeedi 4 T el 3R &1 99+ Difulu

1.B.EC.DA

2B . EACD

JAEREB C.D

4 A B.C.DE

Options :

68634043901. 1
68634043902. 2
68634043903. 3
68634043904. 4

Question Number : 77 Question Id : 68634011119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeREd geTsl &1 PO THR Haied BIu-

A. TP T BT 3TN Aspial UHIrd g3

B. Uf$d QA RIR Yo R Fad Hivs UF BT HTe TR |

C. YGRM heaR! 7 Hraad T el 390 fordl|

D. G151 UT5d Bleds gRI Hitd @ e ol gREE Wakid g5 |
E. 391 HETAR TS fgddl 3 SREad] gfHes! &1 Hure- & (o7l

1 i U fawedi & € 981 SR &1 994 P

1. AB,C.D,.E

2Z.AC.E.D.B
3.B.ALE.C.D
1B, C,AEBD

Options :

68634043905. 1
68634043906. 2
68634043907. 3
68634043908. 4



Question Number : 77 Question Id : 68634011119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafcIRad ge1sl &1 HRIPHTER Taieyd Hifeld-

A. Gadi-e WAl BT YA Fgbidl UDIRId gl

B. UfSd e ¥R Y GRI B5d HIAUS' U DT YUIGT URH|

C. 4GRM el A Hrgadl I 5l U=y ferar|

D. G141 WIgd PTesh g1 (Ad 7 et i shes wafid ge |
E. 31 HeldR WHIE fgddl - IRl Uit &1 9uig Y= [Tl

i f4u U fasedl O ¥ Tl 3w &1 904 B

1.ABCIDE

2.ACED.B
3. BLALE.C.D
4.B.C.A.E.D

Options :

68634043905. 1
68634043906. 2
68634043907. 3
68634043908. 4

Question Number : 78 Question Id : 68634011120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIEPAMER Fafifad el o 98l H &

A HHE
B. dFgadH
C. A
D. A
E. dEd
i T4 U f[daedl 5 O Uel 3R &1 904 Dioil-

1. C,ADB.E

2.DAEB, E
33B.E.C.A.D
4. A E.D.B.C

Options :
68634043909. 1



68634043910. 2
68634043911. 3
68634043912. 4

Question Number : 78 Question Id : 68634011120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT AER Fafifad sl o 98 H9 &
A HHE
B. HFade

C. A
D. R
E. d/FA

i T4 U f[daedl 5 O Uel 3R &1 904 Dioil-

1. C,ADB.E

| S

.D.A.E.B.C
33B.E.C.A.D
4 A E.D.B.C

Options :

68634043909. 1
68634043910. 2
68634043911. 3
68634043912. 4

Question Number : 79 Question Id : 68634011121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafciad o1 98t srhHd ©:

A. Tut
B. Y5
C.Ug
D. 9gHH
E. d19d
= fGu U faoredl | 9§ Te! 3Tk &1 99 SI0-
1LAB.CDE
2.A.C.D.B.E
3.C,A.B.E,D
4.D.A.C.B.E

Options :

68634043913. 1
68634043914. 2
68634043915. 3
68634043916. 4

Question Number : 79 Question Id : 68634011121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o1 Ot s a B

A. Tut
B. Y5
C.Ug
D. 9ghH
E. dIgd
= fGu U faoredl | 9§ Te! 3Tk &1 99 SI0-
1LAB.CDE
2.A.C.D.B.E
3.C,A.B.E,D
4.D.A.C.B.E

Options :

68634043913. 1
68634043914. 2
68634043915. 3
68634043916. 4



Question Number : 80 Question Id : 68634011122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERA L AIENTARI E
HYF 1 TIYHR TS B AR Fa & =9 H faffd F o 99 S B
HYF 11- TCHPR ALHARTY {1y Bt 7S &1 S1UR G0 g
SR B & 3fTare 4, < QU T aeedl I ¥ 999 3uged 3R & 999 St
1. PUT1 AR Y11 ST T S
2. BYA [ SR HYF I &1 7Tad ©
3. FYA 1 T8I 6. Wi HUF 11 7Tad §
4. Y17 B, Tifch BY 11 TEl ©

Options :

68634043917. 1
68634043918. 2
68634043919. 3
68634043920. 4

Question Number : 80 Question Id : 68634011122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIEEACAICACRI O E
YA I- SINDR YH1G D RRER Bid & =9 H Ulcif¥d B &1 99 - di g
SYA I1- AICP DR ASHARMU (Y S1 YRS $T 4R Iq=I1 e gl
SURIF BYF & e 4, 1 [4U T fadedl & § 599 3uged Ik &1 99 BIfou:
1. U1 AR BY 11 1 TG S
2. BYA 1 3R HYA 11 1 7T ¢
3. FYA 1 T8I 8. Wi HUF 11 7Tad §
4. BYT17ETd . Tifeh] BY 11 Tel &

Options :

68634043917. 1
68634043918. 2
68634043919. 3
68634043920. 4



Question Number : 81 Question Id : 68634011123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P - A AgOR U1E fgdel 3 Eet U &1 uierUie G3bR |

FII-WWWMWWWﬁWWW@%WHW
|

SR B & e 1, 1 U T faded] I ¥ 999 3Ugad 3R & 994 SIog
1. P 1 AR BYF 11 1 TET S
2. BYA [ SR HYF I &1 71ad o
3. BYA 1 9E! §. Al HU 11 7Tad 8
4. Y 17ETd B, Tifch BY 11 Tel ©

Options :

68634043921. 1
68634043922. 2
68634043923, 3
68634043924. 4

Question Number : 81 Question Id : 68634011123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT S
TYF I- A FeaR WaTE fgad! 3 88t e &f e Ui SR T

T 11- [gadigrli= srdae y=iiis wal 58dR uH1E fgadl & S fawae ~fadarara) €Y & gafer
|

SR B2 & 3fTare 4, < QU T aeedl I ¥ 999 39ged 3R & 999 SI1ag
1. U1 IR BY 11 1 TG S
2. BYA [ SR HYF I &1 71ad o
3. FYA 1 T8I 8. Wi HUF 11 7Tad §
4. Y170 . Tifeh] BY 11 Tel &

Options :
68634043921. 1
68634043922. 2



68634043923.3
68634043924. 4

Question Number : 82 Question Id : 68634011124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gl P2 fqu I &
%q?ﬁl-ﬁqmﬂﬂanﬁmmm P IJIUEER U, Olg JiedPR 3R THHR & &g diy [dHTfoid @i
|
HYF I1- YRdg 5RES. TR 7Y, Sl U 31fE AEdPR §H & Y-91Y TR i 3|
SR B2 & 3fTare 4, < QU T aeedl I ¥ 999 39ged 3R & 999 SI1ag
1. YA 1 3R HYA 11 S Tl §
2. TYA 1 3R DU 11 1 Tad §

3. BYT 1 9ol 8. A $Y 11 TTad §
4. FYT 17T 5. AP YT 1 Tl &

Options :

68634043925. 1
68634043926. 2
68634043927. 3
68634043928. 4

Question Number : 82 Question Id : 68634011124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEKA L AIEATAR S
%ﬁjﬁl-ﬁqmﬂﬂﬂ%ﬁﬁwwm%dqruwmm ¥, O7d TG IPR 3R THHR & &g Dl [guTferd @
|
HYA I1- HRdg BRYSE. TR [y, STehw ¥z e AedPR §1H & WY-A1Y TAHR Hi U
BRI B2 & 3 4. A< [T [dedl I ¥ §99 Iugad 3ok & 90 BIou
1. YA 1 3R HYA 11 S Tl §
2. BYF 1 3R BYA I I Ted &
3. BYA 1961 §. AT HUH 11704 ©

4. FYT 17T 5. AP YT 1 Tl &

Options :



68634043925. 1
68634043926. 2
68634043927. 3
68634043928. 4

Question Number : 83 Question Id : 68634011125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIE KA EAIC AR

HYT I- TGN o Sadmare S1 U 59 6|

YT I1- TG 5l U o a9y Afd Bla 5|

BRI 2 & 3l 4. A1 U T [dedl I ¥ §99 Iuged 3ok & 994 BIHT:
1. U1 AR BYA 11 S T S
2. Y1 AR BYT 11 &HI Td ©
3. BUF 1 T8I 6. Wi HUA 11 7Tad §
4. PYA 1716 &, Tiich HY 11 el &

Options :

68634043929. 1
68634043930. 2
68634043931. 3
68634043932. 4

Question Number : 83 Question Id : 68634011125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR PRy

HYT I- TGN T Sadare S1 U 59 6

TYF [1- OIS 51 U7 & ga9y S ofa €

SR B & 3fTare 1, 1 G0 T fGdedl I ¥ 999 JUgad 3wk & 99 SIIT:
1. U1 AR BYA 11 S T S
2. YT SR BYT 11 &I T §
3. HYA 198! §. Al HU 11 7Tad 8
4. PYA 1716 &, Tiich HY 11 el &

Options :



68634043929. 1
68634043930. 2
68634043931. 3
68634043932. 4

Question Number : 84 Question Id : 68634011126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂéi?flfﬁﬁﬂ:ngﬁq'”TI%i

HY I- 3T Yol BT (62 Aiieed o1 Siderd iR soRIvdNe fgadl @1 $id Teal Fifed &1 YT
Haid: H&1 H Ug- & el daR [$u e Alew €1

YA II- [ga! iied oivd & fayfaenadia ST o1 Seor 1R sTera-1 & =9 § a1 idi 6|
BRI B2 & 3 4. A< [T [dedl I ¥ §99 Iugad 3ok & 90 BIou
1. BT 1 IR PYA I GHI Tal &
Y 1 AR YT 1 AT e
3. BUA 1 TR ©. A U 11 7T §
4. YT 1IET 8, Tifeh=1 Y 11 Tl ©

| S

Options :

68634043933. 1
68634043934. 2
68634043935. 3
68634043936. 4

Question Number : 84 Question Id : 68634011126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR FufRumu s

HY I- A1 Yo B Gal Ao B1 SIder 3R SoRIVHRE fgddl @ $id Tial e 31 YbeT giH!
Hoid: D&l H 9g- & [y duR fhy e Alca 5

YA II- [ga! Tiiec 5vd & fayfaeadia sdi=mr o1 Seora 1R 1= & =9 & a1 Jrdr g
SR B2 & 3fTare 4, < QU T aeedl I ¥ 999 39ged 3R & 999 SI1ag
1. U1 IR BY 11 1 TG S
YA 1 3R PYF I GHI TAd §
3. FYA 1 T8I 8. Wi HUF 11 7Tad §
4. Y170 . Tifeh] BY 11 Tel &

| B

Options :

68634043933. 1
68634043934. 2
68634043935. 3
68634043936. 4

Question Number : 85 Question Id : 68634011127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIS CR
®YF I- <1.dl. uRIale® dqul $id o fewl o uaikid s g |

T I1- AMHIITHIE 90 dF da- ala SIS Alb YUY Aled] Bl -0 A8 Wik U =
fean

BRI 2 & 3l 4§, A< U T [dedl I ¥ §99 Iuged 3ok & 994 I
1. U1 3R Y 11 ST TET &

Y 1 AR YT 1 AT e

3. BYT 181 8. AMb-1 HYUF 11 7T0d &

4. Y 1710 B, Wb HY 11 981 &

J

Options :

68634043937. 1
68634043938. 2
68634043939. 3
68634043940. 4



Question Number : 85 Question Id : 68634011127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIS CR
®YF I- <1.dl. uRIale® Gqul Pl S el & uaikid s g |

T I1- AMHIITHIE 90 dF da- ala SIS Alb YUY Aled] Bl -0 A8 Wik U =
fean

BRI 2 & 3l 4§, A< U T [dedl I ¥ §99 Iuged 3ok & 994 I
1. BYT1 SR BYF 11 31 981 &
2. TYA 1 R HYF 11 &1 T ©
3. Y1 He! ¢, A Y 11 Tad §
4. FY 17T 8, AP DU I T8 §

Options :

68634043937. 1
68634043938. 2
68634043939. 3
68634043940. 4

Question Number : 86 Question Id : 68634011128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIE KA EAIC AR
FYF - IO § S0 Y HH S & 1AM Il g
HYA II- Igsiie YUY D 398 UsaTeT® 1 YSTHP 7 BIhR D oidl ¢
BRI 2 & 3felie 4. A1 fGU T [dedl I ¥ §99 Iuged 3ok & 994 I
1. U1 AR BYA 11 S T S
2. YT SR BYT 11 &I T §
3. BUF 1 T8I 6. Wi HUA 11 7Tad §
4. PYA 1716 &, Tiich HY 11 el &

Options :

68634043941. 1
68634043942. 2
68634043943. 3
68634043944. 4



Question Number : 86 Question Id : 68634011128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A4 q Py AU ML B
FYFI- IO G HH Y < e ST A gl g
HYF I1- Tgs1Te JHN D [GUT YealdD Il USTHD 1 5IPR AP sIal 5
SR B & 3fTare 4, < QU T aeedl I ¥ 999 3uged 3R & 999 St
1. PUT1 AR Y11 ST T S
2. BYA [ SR HYF I &1 7Tad ©
3. FYA 1 T8I 6. Wi HUF 11 7Tad §
4. Y17 B, Tifch BY 11 TEl ©

Options :

68634043941. 1
68634043942. 2
68634043943, 3
68634043944. 4

Question Number : 87 Question Id : 68634011129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & HaY H FEfeiad $yE R feuR S

A. 3 F SFUR T F A N

B. 5751 U a1 g¥R &1 YA IR 2R 51, a8 Hardard® aieg deadi ol
c. o fordt 919 & 811 &1 &1 81, 98 ARaEs aad Seardal gl

D. T & ATYR IR a7 & ol a1 IR U5 fBu e |

E. oot 9rag & O1de Ties! &l JURYT 1E- @t fha1 &1 390 Fed o

i 14U U f[d@edl 5 O Wel IR &1 904 ioil-
1.dd A.B.E
2.%dd B.D.C
3. HddA.B.D
4.%dd B, C.E

Options :
68634043945. 1
68634043946. 2



68634043947. 3
68634043948. 4

Question Number : 87 Question Id : 68634011129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & HaY H FEfeiad $yE R feuR S

A. 3 F SFUR T F A N

B. 5751 U a1 g¥R &1 YA IR 2R 51, a8 Hardard® aieg deadi ol
c. fore fordt 919 & 511 ST 919 §1. 98 A a19d Feardi gl

D. T & YR IR a/add & diH a1 IR 48 fPu e gl

E. oot 9rag & O1de Ties! &l JURYT 1E- @t fha1 &1 390 Fed o

i 14U U f[d@edl 5 O Wel IR &1 904 ioil-
1.®dd A, B.E

.%dd B.D.C

3. HddA.B.D

4.%dd B, C.E

-2

Options :

68634043945. 1
68634043946. 2
68634043947. 3
68634043948. 4

Question Number : 88 Question Id : 68634011130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s & oy H FHafigd Aeayul d21 ffed 8.
A. T HTER] dred gier ol Reaifad &1 U g AHd 6|
B. Sl 4@ 31 &1 €14 Bl 6. 34 d/9® Usg Hod o
C. Yreagliaadl & TR 312 &l bR & HH L G |

D. "® qaHEr U HH OFY A15? TETdR &1 314 36 (el To| ware" Ufdadl T AT sawiied 81
E. WAl 9&01 & & W8 1 - 0T SR AT

- f&u U fawedl # ¥ Tel ST &1 90 BTt
1. 94 A, D.E
2. $du B, C,E
3. PdU A, B.D
4. $dU B, D.E

Options :

68634043949. 1
68634043950. 2
68634043951. 3
68634043952. 4

Question Number : 88 Question Id : 68634011130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TeExfaa & day H Fafafad geaqul aw e §;
A. T HTER] dred gier ol Reaifad &1 U g AHd 6|
B. Sl 4@ 31 &1 €14 Bl 6. 34 d/9® Usg Hod o
4&@@4|i"ci“du|'%a+gﬂ|a aﬂfa“fw%fﬁmﬁw%ﬁ

"Rd qadigry Ui 8 Y 182 HeTdR @1 4id 3= [Hadl Jel warg" dfdqdl o sifyer Yeawiied |
E JISddl &0 & Gl HE Hg g- il 3R fags

- f&u U fawedl # ¥ Tel ST &1 90 BTt
1. 94 A.D.E
2. $dU B, C, E
3. PdU A, B.D
4. $dU B, D.E

Options :

68634043949. 1
68634043950. 2
68634043951. 3



68634043952. 4

Question Number : 89 Question Id : 68634011131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et § 9 oF 93Uy g9 gRT o Y

A. S gIBI
B. IOT-54
C. Pq TP I
D. TS &t I
E. fdam
1= f3u T fas el H 9 el Suged IR &1 99 SIfeId:
1. $dd A.B.D
2. $ddA.B.E
3.%dd A, C.D

4. $ddB.D.E

Options :

68634043953. 1
68634043954. 2
68634043955. 3
68634043956. 4

Question Number : 89 Question Id : 68634011131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafaRed § &9 9 Iuur gwgre grT ford U &

A U TG

B. o1-44

C. e TP YHI=
D. U4 &1 I

E. fdem

-4 fu U fasedl & ¥ 9a9 SUgad Sk &1 997 Bioie:
1.%dd A, B.D
2. $dd A, B.E
3. HAU A, C.D
4. $dU B, D.E

Options :

68634043953. 1
68634043954. 2
68634043955. 3
68634043956. 4

Question Number : 90 Question Id : 68634011132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR THER Toii-aai & ST a4 9 Heiéq qa @ -
A YUA.3MTE (1961)
B. UTNT (1986)
C. [Eg%aH 9HER (1959)
D. YHlardl (1987)
E. YHER Yl (1965)
-2 feT T fawedl & 9 9ad SUgad SR D1 99 BIST:
1. HdA A, B. C
2.%dd B, C.D
3. Pde A, B.E

4. PddAB.D.E

Options :

68634043957. 1
68634043958. 2
68634043959. 3



68634043960. 4

Question Number : 90 Question Id : 68634011132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FrEfREd SHER o=l & 91 a9 § 9efid 9§ -

A GT.3MTE (1961)

B. YTHT (1986)

c. Egs™ 9HER (1959)
D. TGl (1987)

E. Y9N YRdl (1965)

Oy

1= f3u T fas el H 9 el Suged IR &1 99 SIfeId:
1. AU A, B. C
2.$au B, C.D
3. PAUA.B.E
4.%dd B.D.E

Options :

68634043957. 1
68634043958. 2
68634043959. 3
68634043960. 4

Question Number : 91 Question Id : 68634011133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=5 B & ded & Fufafed suH ® faar S

A BEFI & &3 T A3 BT GIa A diddl & AR U 1956 & STY-UR 3 37|
B. HIg b, Auig Ured, HHCHR, (e aal 93 $erFl 3 oS 6|

C. g ol Hay SR yopld AHaR g gR1¥d s 5

D. 75 B! H Udid-Hya] o1 9an ygEd 3 ffed g

E. -5 ®oHl & YF3ATd HHa adi &1 Oie I 9T 91l 3

4 feu U fasedl & ¥ 9a9 Sugad SOk &1 997 B Ifol-
1.%dd A, B.D
2. $du B, C,E
3. Hdd A, B.E
4.PqUB,.C,D

Options :

68634043961. 1
68634043962. 2
68634043963. 3
68634043964. 4

Question Number : 91 Question Id : 68634011133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Bl & Heu H FHafaiad syl ® fdaR Sifsg:

A BEFI & &3 T A3 BT GIa A diddl & AR U 1956 & STY-UR 3 37|
B. HIg b, Auig Ured, HHCHR, (e aal 93 $erFl 3 oS 6|

C. g ol Hay SR yopld AHaR g gR1¥d s 5

D. 715 g B Fdld- [y &7 Jan wgEdl J fHed g

E. -3 ®eHl &1 YS1d (dd aai & alie 9 g+ @ g

4 feu U fasedl & ¥ 9a9 Sugad SOk &1 997 B Ifol-
1.%dd A, B.D
2. $dU B, C, E
3. Hdd A, B.E
4.PqUB,.C,D

Options :

68634043961. 1
68634043962. 2
68634043963. 3



68634043964. 4

Question Number : 92 Question Id : 68634011134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ey dee Faffe sy & 9 Suge FuE e

A. Fay & soRivans o<t @Y oeor @t faenfary firsy 3 v fan 81

B. PaxA1y g & Hadi & i Siaddl. 39 sracd, [aure an 6=y 0 9 WE T
C. WHTEHR AT9d & FE SATEHT 3R dfd Fay & Sie-fdg = T g

D. TRar 3R @i & Saf-ad 0 &1 died Hae ded g

E. dierd e & 3 WaRTedl SeA1gd gu (65 ¢ |

1= f3u T fas el § 9 el Suged 3T &1 99 Sifely
1. Pdd A.B.E
2. PAAA.B.D
3.%auB.C.D
4.%dd B.D.E

Options :

68634043965. 1
68634043966. 2
68634043967. 3
68634043968. 4

Question Number : 92 Question Id : 68634011134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ey dael Fafafad ey ¥ ¥ 3ugad oY 6

A. ey § gorivre fGadt & wvaxt & faenf-are iy 3 verd e g

B. DAY I & Hadi H U Hiaedl. 30 sRded, [qureg 4n [y =0 9 Wig T E
C. WHTEHR G19d & FaY a1 iR dferd Hay & did-fdg w1 gl

D. T1¥iRaT 3R @ifere & THad T 3 Ao ey $8d ¢

E. Aferd Y & 3 wriTaat srearge qui Rig &

= fag 7o o el B ¥ 9a2 Sugad SR 1 99 BT
1.%dd A, B.E
2. $dd A, B.D
3. %dd B, C,D
4. $dU B, D.E

Options :

68634043965. 1
68634043966. 2
68634043967. 3
68634043968. 4

Question Number : 93 Question Id : 68634011135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T iy § Sefaa adi g &

A, TRI 8 ydierd 814 & HRUI 54HT A1 AFRN U]

B. HAYSY & AR eIl gRI a2y &9 I Uged §i- & BRUI gHb] 918 —FRT UsT|
C. SR UTd S H IR & HRUI U8 Sa- TR dedls|

D. afed aae § 3fcafad -rR fuftr 8 Saarrd fafa g

E. A3 g SaR € 9 & $RUTSY SaarRT 3R fih AR &gl |

4 feu U fasedl & ¥ 9a9 Sugad SOk &1 997 B Ifol-
1.$dd A, B. C
2. %4 B, C,D
3. Hdd A, B.E
4. AT A, C.E

Options :

68634043969. 1
68634043970. 2
68634043971. 3



68634043972. 4

Question Number : 93 Question Id : 68634011135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt iy § Sefaa adi g &

A, TRl § Y=o §H & SR 59&] A AR T51

B. HHUGY & AR SR gRI {d2¥ &9 ¥ Ugdd 814 & SR 5HP] 10 FFRT US|
C. AR 31ufd H1eft § YOR & SR T8 AR Sedls|

D. e e & Sfad nR faft € S i 2

E. difd® &g 4R ¥ 9 & HRU 54 GaarRI 3R fh 9P S8l 17|

1= f3u T fasedl & ¥ el Iugad SR &1 99 SifIL-
1. AU A, B. C
2.$au B, C.D
3. PAUA.B.E
4. bAdd A, C.E

Options :

68634043969. 1
68634043970. 2
68634043971. 3
68634043972. 4

Question Number : 94 Question Id : 68634011136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 11 gl 11 9 fiee Sifor:
T 1 = 1T

&Td P ATHSI]
A [difdera 1 | HeEy

B |emdd o | 1L |9 BOe
C.|*fRama | |faym vare 5y
D. [{ifg®ra IV, [IHE= Yo

gieiRad f[doedl § T Tal 3o &l 944 DIl -

1. A-IV, B-I, C-III, D-TI
2. A-I B-III, C-II, D-IV
3. A-II, B-IV. C-I1, D-III
4. A-TII, B-II. C-IV. D-1

Options :

68634043973. 1

68634043974. 2

68634043975. 3
68634043976. 4

Question Number : 94 Question Id : 68634011136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1961 Gl 11 9 fie sife:
-

A |difdea i IEEED

B. | fddd dra | 1L |5 BIEa

C [smem | | iy uame Y
D. |difddre IV, | TH% g9

FFrafafad fdeedl § O Il 3R &1 90 Hifold

1. A-IV, B-I. C-III. D-II

| B}

AL B-IIIL C-II. D-IV
3. A-IT. B-IV. C-1. D-III
4. A-II1, B-1I. C-IV, D-I

Options :

68634043973. 1

68634043974. 2
68634043975. 3



68634043976. 4

Question Number : 95 Question Id : 68634011137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 g1 11 9 e Sife:
I | g9 0 EAeR
A g | L fEE
B. Ri&&Hg II. [feRE
C [dodaad |1 [ga
D. [yrafaag v [iERieg
FFrafafad fdeedl O O I SR &1 9 Hife -

1. A-IV. B-1. C-II. D-IIT
2. AL B-II, C-IV. D-I
3. A-ILL B-1L. C-1, D-IV
4. A-I. B-IV. C-I1L, D-1I

Options :

68634043977. 1

68634043978. 2

68634043979. 3
68634043980. 4

Question Number : 95 Question Id : 68634011137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 gl 11 9 fiee Sifor:

T I | g8 1 &R

A fFREYE | L faE

B. Rig®HG II. [faR™

C. [Aodaa™ |1 [ga

D. [Yrafdarg V. [TRadiG™
fAafdfad fdeedl & O U8l S &1 994 Difol -

1. A-IV. B-I. C-II. D-ITI
2. AT, B-ILL C-IV, D-I
3. A-II1. B-1I. C-I. D-IV
4. A-I. B-IV, C-III. D-IT

Options :



68634043977. 1
68634043978. 2
68634043979. 3
68634043980. 4

Question Number : 96 Question Id : 68634011138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 BT gd 1 ¥ fiaH DI
=i 1300 T 11 U
A [RieaiEmET L]
B. [fiaH II. [EmEsit
C. [RIE: Udh SilaH]| 111 [de
D. [T 3T V. [T it
FFrafafad fdeedl O O I SR &1 9 Hife -

1. A-IIL B-II, C-L. D-IV

| B}

. A-IIL B-IL C-IV, D-III
3. A-IT, B-IV. C-I1. D-IIT
4. A-IT, B-IV. C-IL, D-I

Options :

68634043981. 1
68634043982. 2
68634043983. 3
68634043984. 4

Question Number : 96 Question Id : 68634011138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 11 gl 11 9 fiee Sifor:
T 1 ST T 1 U
i Bl

A [T I

B. [iigH I1. [ETgeit
C. w:wsﬂa:ﬁ I

D.

EEERI
T AHTac Iv. [l wg=iie
gfciRad Ao edl § U Tal 3R &l 99 DI -

1. A-IIL B-II, C-L. D-IV

2. A-ILL B-1, C-IV, D-III
3. A-II. B-IV. C-I. D-III
4. A-IT, B-IV. C-IL, D-I

Options :

68634043981. 1
68634043982. 2
68634043983. 3
68634043984. 4

Question Number : 97 Question Id : 68634011139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 g4 11 9 faH Sife:

R 1Y ST] Ui al [ S Uaied
A | BHEREL I Rraget sHgd
B. [Hugd 1L |33g

C. [Fmaa 11 [FHT®HR J1dd

D. flid® cadl | IV. [SeU=ieR HE

Frgfeiad f[deedi § 9 98l SR &1 99+ Hifo -

1L.A-IIL BV, ¢4, DO
2 AT BV, CT DI
3. A<IV. BIL G DI
4. A-IV. B-IIL. C-L. D-II

Options :

68634043985. 1

68634043986 2

68634043987. 3
68634043988. 4



Question Number : 97 Question Id : 68634011139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 101 T 11 9 i S

R 13701 T U] Tt 1 TUiae R
A |PHEEH I [rage sHigd
B. [Hugd 1 |a=m

c [smaa LIL [JHIR Hd

D. [l cadl [ IV [Seamien ¥z

Fafafad Aol o T 98 SR &1 907 Hifud ;
1. A-ITI, B-IV, C-1, D-II
2. A-IIL B-IV. C-II, D-I
3. A-IV, B-TIL, C-II, D-I
4. A-IV, B-IL, C-I, D-TI

Options :

68634043985. 1
68634043986. 2
68634043987. 3
68634043988. 4

Question Number : 98 Question Id : 68634011140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 11 g4 11 9 faH Sife:

T 1 9T UPR TN 11 ISTEX0T

A, [gdbad® aw| 1. g8 @ e @l

B. [FuuTE® 91| L [5ie qF @isdl a1 & 41 @3
c_ |ommd® g | ggwEma ge

D. [[umre ared| Iv. [q9 @ @rai

frafaRad famedl & 9 96T SR &1 909 iy -
1. A-I. B-1I. C-IV. D-ITI
2. A1, B-III, C-1, D-IV
3. A-II, B-1, C-IV. D-III
4. A-I11, B-IV. C-II. D-I
Options :

68634043989. 1
68634043990. 2



68634043991. 3
68634043992. 4

Question Number : 98 Question Id : 68634011140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 9 i Sifor:

It 1 976 UP TR el 11 3STEv0r

A [Gdarls ai| 1 |89 @ e @l

B. [FysTe® arad| 11 [afe g8 @il al 5 i a@ns
c. [srd® e | e args

D. [fayrde ared| 1v. [ga @ @i

gfciRad Ao edl § U Tal 3R &l 99 DI -

1. A-I, B-IL. C-IV. D-III

2. AL B-IIL C-I, D-IV
3. A-II. B-1, C-IV. D-III
4. A-IT, B-IV. C-IL, D-I

Options :

68634043989. 1
68634043990. 2
68634043991. 3
68634043992. 4

Question Number : 99 Question Id : 68634011141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 11 g4 11 9 fiaH Sifsu:
T 1 HGUTION T 110G

A [pra-'q I [CI&om
B [prardem | o [@id

C. [Srscmiidd I1L [

D. [Pt |1V, [Seardl Siad! dieH

fFafiiad fawedl & U 98! SR &1 994 Sifoll -
1. A-ITI, B-IV, C-1, D-II
2. A-II, B-III, C-IV, D-I
3. A-IIL, B-I, C-I, D-IV

4. A-IV, B-II. C-I. D-III



Options :

68634043993. 1
68634043994. 2
68634043995. 3
68634043996. 4

Question Number : 99 Question Id : 68634011141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 11 gl 11 9 fiee Sifor:
= 1 U T 11 0
A |[pra-gg I [craom

B [premaem | 1o @i

C. [FTecEriad 111 [

D. [Preg-waeH | 1V, [ereardl Tied! seaH
FefciRad f[dewedl § ¥ 98l 3T &l 99+ DI -

1. A-TII. B-IV. C-1. D-II

-

A-IL B-IIL C-IV, D-I
3. A-II1. B-1. C-II. D-IV
4. A-IV, B-II. C-I. D-III

Options :

68634043993. 1
68634043994. 2
68634043995. 3
68634043996. 4

Question Number : 100 Question Id : 68634011142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 1 gl 11 9 fia oify

1 = 10

mﬁmﬁﬁaﬁﬁ'&) @TEUT)

A g2 | 1 [[9ym sl H wad qiw

3G 210 | 1L [4 &l IS4 el Ud iU ga-r]
C. |3fgwsa 343(1) | U1 [H¥E H Fgad HIWI

D. [ar=dg 345 | IV [fafHE Ial @1 TsHET

fFrafarad fameal 5 T 961 S| &1 994 DI :

1. A-IIL, B-1. C-IV. D-II

w [

2. AT, B-1. C-I1, D-IV
3. A-L B-IIL. C-II. D-IV
4. A-L. B-IIL. C-IV. D-II

Options :

68634043997. 1
68634043998. 2
68634043999. 3
68634044000. 4

Question Number : 100 Question Id : 68634011142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gl 11 9 fia $ifey
1 = 10
mﬁmﬁﬂwﬁ.ﬁ'&) (I

A PEwg120 | 1 [[QyH dsal o wgad v
G 210 | 1L |69 @i IeHT el U ey SR
C. |3fgwsa 343(1) | U1 [H¥E H Fgad HIWI

D. [ar=dg 345 | IV [fafHE Ial @1 TsHET

fFrafarad fameal 5 T 961 S| &1 994 DI :

1. A-III, B-1, C-IV. D-II

|

2. AT, B-1. C-I1, D-IV
3. A-L B-IIL. C-II. D-IV
4. A-I. B-III. C-IV. D-II

Options :
68634043997. 1



68634043998. 2
68634043999. 3
68634044000. 4



